RTMB Tests Lösungen
Test 18    10er Potenzen Lösungen 
R. Hinze 17.01.2022
1) 30,021 : 100 = 0,30021

2) 30,021 ∙ 100 = 3.002,1

3) 30,021 : 0,001 = 30.021

4) 8,003 : 10-2 = 800,3

5) 30,021 ∙ 0,001 = 0,030021

6) 0,157 : 10-4 = 1570

7) 20,458 ∙ 104 = 204.580

8) 30,021 : 0,1 = 300,21


9) 20,458 ∙ 105 = 2.045.800

10) 4698,2 : 10-5 = 469.820.000

11) 20,458 : 105 = 0,00020458

12) 0,157 ∙ 10-4 = 0,0000157

13) 20,458 : 10-3 = 20.458

14) 8,003 ∙ 10-5 = 0,00008003

15) 4698,2 ∙ 10-5 = 0,046982




16) 5.678.943 = 5,678943 ∙ 106    

17) 123.867.654 = 1,23867654 ∙ 108

18) 0,000123456 = 1,23456 654 ∙ 10-4

19) 0,0076543 = 7,6543 654 ∙ 10-3

20) 0,000009876 = 9,876 654 ∙ 10-6


